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1. RAAD. SEEH(65mLLL) . AinbR

<AO> (Bifsz: A) (Bfsz: A)
28FER| 29FEXR | S0FER | RIFER | R2ZEEXR | RSEER | RAFER 28FEXR| 295 EX | 30FER | R1FEEXR | R2ZEER | R3FEEXR | RAEERX
KO 40,743 40,935 41,068 41,236 41,188 41,235 41,218 A0 91,587 91,130 90,833 90,510 89,901 89,219 88,865
= alf: 1 7,740 7,553 7,465 7,340 7,195 6,978 6,926 EEEAD 23,962 24,303 24,656 25,000 25,271 25,524 25,655
BB 10,257 10,119 10,014 9,853 9,723 9,573 9,408
R iR 20,900 20,823 20,846 20,887 20,849 20,759 20,801
I 3::159 11,947 11,700 11,440 11,194 10,946 10,674 10512
& &t 91,587 91,130 90,833 90,510 89,901 89,219 88,865
<SHhBEH. SEitER> (Bif: A %)
28 ER 295 ER 30EER R1EER R2EER RIFEER RAFEER
EEMENR | SELE | SREY | SHLE | SHREY | SRR | SHER | SHEE | SREHR | SHEE | SHEYN | SHLE | SREY | SRR
KO R 8,829 21.7 8,999 220 9,137 222 9,280 225 9,415 229 9,533 231 9,589 233
TR 2,575 333 2,596 34.4 2,625 35.2 2,647 36.1 2,651 36.8 2,684 385 2,688 3838
FE MR 3,373 329 3413 337 3472 347 3,500 355 3,495 359 3,490 365 3,471 36.9
R X 5,206 24.9 5,326 25.6 5,460 26.2 5,603 26.8 5716 274 5,805 28.0 5,885 283
&KX 3,979 333 3,969 339 3,962 34.6 3,970 355 3,994 365 4,012 376 4,022 383
& &t 23,962 26.2 24,303 26.7 24,656 27.1 25,000 276 25,271 28.1 25,524 286 25,655 289




2. REBRDERMER

<29FEE> H29E R
JKOET | BT | FREET | FEET | SXET | BES &
BEXIE 236 81 91 140 129 677
BEXiE2 189 67 70 124 124 574
Eri# 312 85 116 171 172 856
EiE2 224 78 102 141 109 654
=53 226 77 88 104 102 2 599
B4 183 77 64 97 104 525
=55 180 64 60 62 100 2 468
A&t 1,550 529 591 839 840 4 4,353
<R1EE> RIEER
JKOET | BT | FREET | FEET | SXET | BEH &t
BEXIE 229 84 95 160 131 699
BEXiE2 189 63 87 110 101 1 551
Eri# 323 87 123 206 174 1 914
Erik2 298 87 111 136 132 764
=53 220 67 90 129 117 623
Eri#a 189 69 62 112 84 1 517
Ei#5 179 58 64 86 84 2 473
A&t 1,627 515 632 939 823 5 4,541
<R3FE> RIEER
JKOET | BT | FPEET | FEET | SXET | BES &t
BEXIE 176 61 103 143 106 2 591
BEXiFE2 191 43 73 121 92 5 525
BN 368 102 136 203 186 16 1,011
Eik2 281 91 111 156 141 5 785
=53 241 74 74 142 110 7 648
B3 2 225 60 68 110 97 9 569
Ei#5 164 49 64 78 89 4 448
&t 1,646 480 629 953 821 48 4,577

<30FEE> H30EE R
JKOBT | LB | FREET | FEgET | {SXET | BEW =H
BEXIE 223 80 94 165 136 698
BEXiE2 217 77 99 132 92 617
Eri# 336 79 114 206 180 1 916
Eik2 277 91 109 135 142 754
=53 197 69 86 107 106 1 566
B4 201 66 52 103 83 505
=55 179 59 68 83 84 3 476
A&t 1,630 521 622 931 823 5 4,532
<R2EE> R2EER
JKOBT | LB | FREET | FEgET | {SRET | BEW &&t
BEXIE 195 67 103 151 127 3 646
BEXiE2 181 58 85 116 95 4 539
Eri#E 337 102 125 203 177 12 956
EiE2 271 80 121 154 140 4 770
=53 252 55 80 136 118 6 647
B3 2 200 65 75 118 97 8 563
=55 180 54 59 69 79 2 443
A&t 1,616 481 648 947 833 39 4,564
<RAEE> RAFEER
JKOBT | LiLET | FREET | FEET | {SXET | BEW A&t
BEXIE 184 61 78 150 98 2 573
BEXiFE2 161 49 64 113 102 5 494
£ 346 89 150 202 175 11 973
Eik2 292 90 103 159 129 8 781
=53 242 78 86 145 109 5 665
B3 2 226 64 64 103 102 10 569
Ei#5 175 50 57 81 80 4 447
&t 1,626 481 602 953 795 45 4,502
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R5.38 % R5. 3A 1245
nERS | %ﬁﬁ%%ﬁ(%b‘—t“xtiﬂ&&E?%-’ﬁiﬁ%ﬂﬁliiﬁ) %ﬁﬁ%ﬁ(aﬁuﬁﬁgﬁ?ﬁ u I %Egﬁ%”:
A e BT | WWAR | @i e RECEE | um &% | EEAR |AEam| @ |AREET O |RE G
N5) 1r58) )
EXE1 573 70 17 2 0 241 1,344,955 431,421 62,609 0 1,838,985 7,631 50,320 15.2%
EXig2 494 67 27 4 0 270 1,862,716 1,256,021 99,414 0 3,218,151 11,919 105,310 11.3%
ENEA 973 440 356 58 11 726 12,678,516 22,891,217 2,587,322 1,061,949 39,219,004 54,021 167,650 32.2%
ENhiE2 781 462 332 124 8 628 16,324,857 27,749,517 6,789,317 840,651 51,704,342 82,332 197,050 41.8%
ENiES3 665 368 202 125 19 392 16,777,538 19,738,089 9,383,240 2,563,318 48,462,185 123,628 270,480 45.7%
ENhiEa 569 341 108 74 9 252 19,378,330 10,972,815 7,184,245 1,170,312 38,705,702 153,594 309,380 49.6%
E/NES 447 358 79 57 8 182| 22,285,734 8,283,706 4,455,068 1,064,821 36,089,329 198,293 362,170 54.8%
&5t 4,502 2,106 1,121 444 55 2,691 90,652,646 91,322,786 30,561,215 6,701,051 219,237,698 — — —
Y —ER
R5.38 K R5. SRR R
SRS SHER % F%E (FIR%) (M)
EXiE 573 0 0 0 0 0 0 0 0 0 0 0
BEXiR2 494 0 0 0 0 0 0 0 0 0 0 0
ENE 973 1 39 0 0 40 271,466 10,992,429 0 0] 11,263,895 281,597
EE2 781 18 43 0 0 61 5,021,236 12,088,874 0 0] 17,110,110 280,494
E/ES3 665 164 64 0 1 229| 48,140,245( 20,727,547 0 390,793 69,258,585 302,439
ENEa 569 198 78 1 1 278 62,102,821 26,475,111 350,346 450,037 89,378,315 321,505
Ei#S5 447 139 53 1 11 204| 47,338,903 17,990,486 374,966 4,663,045 70,367,400 344,938
=118 4,502 520 2717 2 13 812]| 162,874,671 88,274,447 725,312 5,503,875 257,378,305 316,968
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BREEMRISE T IN—THR—L

R5. AR

MRRSHREEEEN#

R5. 3A RS

HRXH i AN
ko PR p— kY ko PP p—— e
EXE 0 0 0 EXE1 2 100,975 50,488
BExig2 0 0 0 BEXig2 3 240,945 80,315
E N 35| 9,774,059 279,259 EN i 24 3,443,506 143,479
B2 46| 13,621,074 296,110 B2 18| 3,892,580 216,254
ENiE3 39| 11,960,617 306,682 EiES 8| 2,414,995 301,874
Eri&4a 17| 5424175 319,069 EiEa 6| 1,943,113 323,852
EN#ES5 14 4,494,639 321,046 ENiES5 7| 2,352,798 336,114
a5t 151| 45,274,564 299,832 &5t 68| 14,388,912 211,602
BEERIHTEIH—ERFREIE

mrEy | P | BEZEE BHELn | mesat | HELHm
X EZRER =y

E A B D F=A+B+C+D F/E

B 573 241 0 2 243 42.4%
EXiE2 494 270 0 3 273 55.3%
EMi#E 973 726 40 24 825 84.8%
Erig2 781 628 61 18 753 96.4%
ENiEs 665 392 229 8 668 100.5%
ENriE4a 569 252 278 6 553 97.2%
ENES 447 182 204 7 407 91.1%
= 4,502 2,691 812 68 3,722 82.7%
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(RERABIA M R 18 & 45 51 AR

M4 FE

BEES FERIKRNERM

FE e (1) =% ()
FR20FEE 1 17,000
FR21EE 1 47,532
FR22FE 1 48,156
FR23FEE 2 59,872
FR24EE 2 54,600
FR25FE 3 94,500
FR26FE 3 87,500
FR27TEE 3 116,888
FR28FE 6 186,694
FR29FE 9 496,648
FR30EE 18 1,023,456
SITEE 92 2,695,079
S 2 FE 109 3,545,504

=t 250 8,473,429

SMAFEE NEERREAMRIGEEIRGH

FE H2 &% (M)
TR0 3 2,954
TR21EE 14 43,969
T2 18 56,127
TR23EE 20 64,129
TRAEE 24 89,536
TS EE 72 268,641
TR264 & 75 273,668
FR2TEE 90 335,328
T8 EE 127 537,234
T2 182 891,163
TRB0EE 280 1,547,006
SHTTERE 446 2,401,301
SH1 2 G 690 3,714,676
SF1 3G 1,389 8,974,126

- FEAN
EJF 3,430 19,199,858

BERIRE A (N) =% ()
FREHFE 78 5,330,466
R E 15 1,288,025
FREFRHIRE 2 128,260
EHE 10 274,597
HEE 2 29,529
EERHE 26 1,422,552
B 133 8,473,429




OmARRIEZEZ AT —L (R FHEEL (SHLSFSR1ERR REMHPURREDH)

) N # E 3 AN R
Hbig} i A EBEH Sy . g - . -
TINEL | ENE2 | ENE ENEL | ENES
Jh 4B 50 51 2 2 23 15 9
< & D 4B 110 29 0 1 12 11 5
Hoisg |
L =R EADS 112 127 3 4 52 46 22
T—FI)L4 65 70 0 2 24 23 21
+1h R e
U ML Ty o (MigEBRER) 29 55 0 2 19 18 16
3k
5 40 51 0 3 16 15 17
Eﬁijgf HoH-
S BT 50 64 2 7 14 24 17
= .
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E;?é =K J
St 285+ 90 68 3 5 26 17 17
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FEHIMREETHLA T SHNA4FE8ALIB~SMbEFET7 A3 1 BOMISHBEAFRE NS
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I8 4 = 0 0 5 3 0 8
K33 (185 0D 4 1 0 6 7 2 16
L —R_RyFEHA DS 0 0 12 10 8 30
T—FILE 0 0 11 11 5 27
il | U b LTy o (M R 0 0 3 2 0 5
E2=H 0 0 3 4 4 11
FRE g R B TE 0 0 9 9 7 25
Rt | H S 38 0 0 15 16 5 36
{553, |15 K5 0 0 5 8 4 17
&t 1 0 69 70 35 175
O% 1| SHERREENE - EXERITEOHE
H30E & RITEE R2EE R3FE R4EE

1 5REHEH (7)) A 4,439 4,458 4,492 4,511 4,437

REXR () % 18.0 17.8 17.8 17.7 17.3

RWEEX (B) % 17.1 17.4 17.6 17.8 17.9

wEEX (BH) % 18.3 18.5 18.7 18.9 19.0
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